

NORMAL AND COSETS OF (γ, ∂) -FUZZY HX -SUBGROUPS

AHLAM FALLATAH, MOURAD OQLA MASSA'DEH* AND ABD ULAZEEZ ALKOURI

ABSTRACT. In this paper, the concept of (γ, ∂) -fuzzy HX -subgroups is introduced. We present some properties of (γ, ∂) -normal fuzzy HX -subgroups and we discuss some results related to (γ, ∂) -fuzzy cosets.

AMS Mathematics Subject Classification : 03G25, 20N25, 03E72. *Key words and phrases* : Fuzzy Sets, fuzzy HX -subgroups, (γ, ∂) -fuzzy HX -subgroups, (γ, ∂) -normal fuzzy HX -subgroups, (γ, ∂) -fuzzy cosets.

1. Introduction

As a generalization of subsets notion in ordinary set theory, Zadeh [1] introduced fuzzy subsets concepts. Many algebraic structures have been fuzzified. And it was the first in 1971 by Rosenfeld [2] discussed a fuzzy subgroup concept. Most works recent on fuzzy subgroups used definition of Rosenfeld. Massa'deh and Hatamleh [3, 4] investigated the notions of fuzzy subgroups with operators and L - Q -fuzzy quotient, for more details of fuzzy subgroups and related results see [5, 6, 7]. In 1987, Li Hongxing [8] gave HX -group concepts and Luo chengzhong et al [9] introduced the fuzzy HX -group concepts. Here after, more important interesting results about a fuzzy HX -subgroups and its properties have been obtained (see, e.g., [10, 11, 12, 13, 14] Some extensions of fuzzy subgroups emerged. Bhakat and Das [15] discussed $(\epsilon, \epsilon \vee q)$ -fuzzy subgroup concept, while. In 2003, Yao [16] introduced the concept of (λ, μ) -fuzzy normal subgroups as a generalization of $(\epsilon, \epsilon \vee q)$ -fuzzy subgroup. Moreover, Chinnadurai and Arul mozhi [17] introduced and studied a (η, δ) -bipolar fuzzy ideal and bi-ideal.

In this paper, we conduct a study a bout (γ, ∂) - HX -fuzzy subgroups. The paper contains some properties of (γ, ∂) - HX -fuzzy subgroups, (γ, ∂) - HX -

Received August 16, 2021. Revised January 17, 2022. Accepted January 27, 2022.

*Corresponding author.

© 2022 KSCAM.

normal fuzzy subgroups and (γ, ∂) -fuzzy cosets and discussed some of their related results.

2. PRELIMINARIES

Definition 2.1. [1] If G is a non empty set. A fuzzy subset λ of G is a function $\lambda : G \rightarrow [0, 1]$.

Definition 2.2. [8] An HX -group on G is a non empty set $\nu \subset 2^G - \{\phi\}$ such that ν is a group with respect to the algebraic operation defined by $XY = \{xy; x \in X \text{ and } y \in Y\}$, and E is the unit element .

Definition 2.3. [9] If $\nu \subset 2^G - \{\phi\}$ is an HX -group on G , and λ is a fuzzy subset defined on G . A fuzzy set δ_λ defined on ν is called fuzzy HX -subgroup on ν if for any $X, Y \in \nu$

- (1) $\delta_\lambda(XY) \geq \min\{\delta_\lambda(X), \delta_\lambda(Y)\}$
- (2) $\delta_\lambda(X^{-1}) = \delta_\lambda(X)$

where $\delta_\lambda(X) = \max\{\lambda(x), \text{ for all } x \in X \subset G\}$.

Definition 2.4. [2] If λ is a fuzzy subset of ν and $\alpha \in [0, 1]$, suppose that $\lambda_\alpha = \{X \in \nu, \lambda(X) \geq \alpha\}$. Then λ_α is called a level subset of λ .

Lemma 2.5. [11] A fuzzy subset λ of ν is a fuzzy HX -subgroup if and only if $\lambda_\alpha \neq \phi$ is a crisp HX -subgroup of ν for every $\alpha \in [0, 1]$.

Proof. Straightforward. □

Proposition 2.6. If λ is a fuzzy subset of ν . Then λ is normal fuzzy HX -subgroup of ν if and only if $\lambda_\alpha \neq \phi$ is a normal HX -subgroup of ν for all $\alpha \in [0, 1]$.

Proof. Straightforward. □

3. (γ, ∂) FUZZY AND NORMAL FUZZY HX -SUBGROUP

Definition 3.1. If λ is a fuzzy subset of ν . λ is called a (γ, ∂) -fuzzy HX -subgroup of ν if:

- (1) $\lambda(XY) \vee \gamma \geq \lambda(X) \wedge \lambda(Y) \wedge \partial$
- (2) $\lambda(X^{-1}) \vee \gamma \geq \lambda(X) \wedge \partial$ for all $X, Y \in \nu$.

Since, a $(0, 1)$ -fuzzy HX -subgroup is just fuzzy HX -subgroup, while a (γ, ∂) fuzzy HX -subgroup is a generalization of fuzzy HX -subgroup.

Lemma 3.2. Let λ be a (γ, ∂) -fuzzy HX -subgroup of ν , then $\lambda(E) \vee \gamma \geq \lambda(X) \wedge \partial$ for all $X \in \nu$ and E is the identity in ν .

Proof. Straightforward. □

Corollary 3.3. If λ is a (γ, ∂) -fuzzy HX -subgroup of ν . Then

- (1) If $\lambda(X) \geq \partial$, then $\lambda(E) \geq \partial$ for some $X \in \nu$.
- (2) If $\lambda(X) \leq \partial$ for all $X \in \nu$ and $I = \{X; \gamma < \lambda(X) < \partial\} \neq \phi$, then $\lambda(E) = \max\{\lambda(X); X \in \nu\}$.

(3) If $\lambda(E) \leq \gamma$, then $\lambda(X) \leq \gamma$ for all $X \in \nu$.

Proof. (1) For some $\lambda(X) \leq \lambda(E)$, if $\lambda(X) \geq \partial$ then $\lambda(E) \vee \gamma \geq \lambda(X) \wedge \partial$ by Lemma 3.2; thus $\lambda(E) \geq \partial$.

(2) When $X \in I$ by Lemma 3.2, $\lambda(E) \vee \gamma \geq \lambda(X) \wedge \partial = \lambda(X)$ that is $\lambda(E) \geq \lambda(X)$. Then $\lambda(E) > \gamma$ while, if $X \notin I, \lambda(X) \geq \gamma$ due to $\lambda(X) < \partial, \lambda(E) = \lambda(E) \vee \gamma \geq \lambda(X) \wedge \partial = \lambda(X)$ by Lemma 3.2. Thus, $\lambda(X) \leq \lambda(E)$ for all $X \in \nu$ that is, $\lambda(E) = \max\{\lambda(X); X \in \nu\}$.

(3) If $\lambda(E) \geq \gamma$, thus $\gamma = \lambda(E) \vee \gamma \geq \lambda(X) \wedge \partial$ for all $X \in \nu$, then $\lambda(X) \leq \gamma$ due to $\gamma < \partial$. □

Proposition 3.4. *If λ is a (γ, ∂) -fuzzy HX -subgroup of ν and $\gamma < \lambda(E) < \partial$. Then:*

- (1) $\lambda(X) \leq \lambda(E)$ hold for all $X \in \nu$.
- (2) $\lambda(X) = \lambda(E)$ for all $X \in \lambda_{\lambda(E)}$.

Proof. (1) If $\lambda(X) \geq \lambda(E)$ for some $X \in \nu$, then $\lambda(E) \geq \partial$ by Corollary 3.3 (1), which is contradiction. Hence $\lambda(E) < \partial$ for all $X \in \nu$. Since $E \in I, \lambda(X) \leq \lambda(E)$ satisfy for all $X \in \nu$ by Corollary 3.3(2).

(2) $\lambda(X) \geq \lambda(E)$ for every $X \in \lambda_{\lambda(E)}$ by (1) $\lambda(X) \leq \lambda(E)$ then $\lambda(X) = \lambda(E)$. □

Lemma 3.5. *If λ is a (γ, ∂) -fuzzy subset of ν , then λ is a (γ, ∂) -fuzzy HX -subgroup of ν iff $\lambda_{\alpha} \neq \phi$ is a HX -subgroup of ν for all $\alpha \in (\gamma, \partial]$.*

Proof. Straightforward. □

Theorem 3.6. *If λ is a (γ, ∂) -fuzzy HX -subgroup of ν and $X \in \nu$ then:*

- (1) If $\lambda(X) \geq \partial$, then $\lambda(X^{-1}) \geq \partial$.
- (2) If $\gamma < \lambda(X) < \partial$, then $\partial(X) = \lambda(X^{-1})$.
- (3) If $\lambda(X) \leq \gamma$, then $\lambda(X^{-1}) \leq \gamma$.

Proof. By Lemma 3.5 $\lambda_{\alpha} \neq \phi$ is a HX -subgroup of ν for all $\alpha \in (\gamma, \partial]$.

(1) If $\lambda(X) \geq \partial$, then $X \in \lambda_{\partial}$. Since λ_{∂} is a HX -subgroup of $\nu, X^{-1} \in \lambda_{\partial}$, that is $\lambda(X^{-1}) \geq \partial$.

(2) If $\gamma < \lambda(X) < \partial$, then $\lambda(X) = \lambda(X) \vee \gamma \geq \lambda(X^{-1}) \wedge \partial = \lambda(X^{-1})$. If $\lambda(X^{-1}) \wedge \partial = \partial$, then $\lambda(X^{-1}) \geq \partial$; that is, $\lambda(X) \geq \partial$ which is contradictory to that $\lambda(X) < \partial$. Hence $\lambda(X) \geq \lambda(X^{-1})$. Furthermore, since $X \in \lambda_{\lambda(X)}$ and $\lambda_{\lambda(X)}$ is a HX -subgroup of ν we have $X^{-1} \in \lambda_{\lambda(X)}$. Therefore, $\lambda(X^{-1}) \geq \lambda(X)$ and we get $\lambda(X) = \lambda(X^{-1})$.

(3) Assume $\lambda(X^{-1}) > \gamma$. Let $\beta_0 = \min\{\lambda(X^{-1}), \partial\}$. Then $\gamma < \beta_0 \leq \partial$, and $\lambda(X^{-1}) \geq \beta_0$. Thus $X^{-1} \in \lambda_{\beta_0}$, by Lemma 3.5, λ_{β_0} is a HX -subgroup of ν and thus $X \in \lambda_{\beta_0}$ therefore $\gamma < \beta_0 \leq \lambda(X)$ which is a contradiction to that $\lambda(X) \leq \gamma$. Hence $\lambda(X^{-1}) \leq \gamma$. □

Corollary 3.7. *If λ is a (γ, ∂) -fuzzy HX -subgroup of ν and $X, Y \in \nu$.*

- (1) *If $\lambda(X), \lambda(Y) \geq \partial$, then $\lambda(XY) \geq \partial$.*
- (2) *If $\gamma < \lambda(X) < \partial, \lambda(X) < \lambda(Y)$, then $\lambda(XY) = \lambda(X) = \lambda(YX)$.*
- (3) *If $\lambda(X) \leq \gamma, \lambda(Y) > \gamma$, then $\lambda(XY) \leq \gamma$ and $\lambda(YX) \leq \gamma$.*

Proof. For all $\beta \in (\gamma, \partial] \lambda_\beta \neq \phi$ is a HX -subgroup of ν by Lemma 3.5.

- (1) Since $\lambda(X), \lambda(Y) \geq \partial$, thus $X, Y \in \lambda_\partial$ and since λ_∂ is a HX -subgroup of ν , we have $XY \in \lambda_\partial$, that is $\lambda(XY) \geq \partial$.
- (2) If $\lambda(X) = \beta_1, \lambda(Y) = \beta_2$ and $\lambda(XY) = \beta_3$. Then $\gamma < \beta_1 \leq \partial$ and $\beta_2 > \beta_1$. Now, we have $\gamma < \lambda(X) < \lambda(Y)$ then $X, Y \in \lambda_\beta$ and thus $XY \in \lambda_\beta$ by Lemma 3.5 (1) therefore $\lambda(XY) \geq \beta_1$ hence $\beta_3 \geq \beta_1$. If $\beta_3 > \beta_1$, let $\beta_0 = \min\{\beta_2, \beta_3, \partial\}$. Then $\gamma < \beta_0 \leq \partial$ and $XY, Y \in \lambda_{\beta_0}$. By Lemma 3.5, λ_{β_0} is a HX -subgroup of ν , thus $X = XYY^{-1} \in \lambda_{\beta_0}$. Hence $\beta_1 < \beta_3 \leq \beta_0 \leq \lambda(X)$ which is a contradiction. Therefore, $\beta_3 = \beta_1$, that is $\lambda(XY) = \lambda(X)$ by the same, $\lambda(X) = \lambda(YX)$.
- (3) Assume $\lambda(XY) > \gamma$. Let $\beta_0 = \min\{\lambda(XY), \lambda(Y), \partial\}$ then $\gamma < \beta_0 \leq \partial$ and $XY, Y \in \lambda_{\beta_0}$. By Lemma 3.5, λ_{β_0} is a HX -subgroup of ν , thus $X = XYY^{-1} \in \lambda_{\beta_0}$. It follows that $\gamma < \beta_0 \leq \lambda(X)$, which is a contradiction. Thus $\lambda(XY) \leq \gamma$. By the same $\lambda(YX) \leq \gamma$.

□

Definition 3.8. If λ is a (γ, ∂) -fuzzy HX -subgroup of ν , λ is a (γ, ∂) -normal fuzzy HX -subgroup of ν if $\lambda(XYX^{-1}) \vee \gamma \geq \lambda(Y) \wedge \partial$ for all $X, Y \in \nu$.

Proposition 3.9. *If λ is a (γ, ∂) -fuzzy HX -subgroup of ν , then*

- (1) *λ is a (γ, ∂) -normal fuzzy HX -subgroup of ν if and only if $\lambda(XY) \vee \gamma \geq \lambda(YX) \wedge \partial$ for all $X, Y \in \nu$.*
- (2) *λ is a (γ, ∂) -normal fuzzy HX -subgroup of ν , iff $\lambda_\beta \neq \phi$ is a normal HX -subgroup of ν for all $\beta \in (\gamma, \partial]$.*

Proof. Straightforward. □

Theorem 3.10. *If λ is a (γ, ∂) -normal fuzzy HX -subgroup of ν , then:*

- (1) *If $\lambda(X) \geq \partial$, then $\lambda(YXY^{-1}) \geq \partial$ for all $X, Y \in \nu$.*
- (2) *If $\gamma < \lambda(X) < \partial, \lambda(X) < \lambda(Y)$, then $\lambda(YXY^{-1}) = \lambda(X)$ for all $X, Y \in \nu$.*
- (3) *If $Y \in \nu$ and $\gamma < \lambda(XY) < \partial$, then $\lambda(XY) = \lambda(YX)$.*
- (4) *If $Y \in \nu$ and $\lambda(XY) \geq \partial$, then $\lambda(YX) \geq \partial$.*
- (5) *If $Y \in \nu$ and $\lambda(XY) \leq \gamma$, then $\lambda(YX) \leq \gamma$.*

Proof. (1) If $\lambda(X) \geq \partial$, then $X \in \lambda_\partial$. By Proposition 3.9(2), λ_∂ is a normal HX -subgroup of ν and hence $YXY^{-1} \in \lambda_\partial$. Thus $\lambda(YXY^{-1}) \geq \partial$.

- (2) If $\lambda(X) = \beta$. Then $\gamma < \beta < \partial$. By Proposition 3.9(2) λ_β is a normal HX -subgroup of ν and hence $YXY^{-1} \in \lambda_\beta$. Thus $\lambda(YXY^{-1}) \geq \beta = \lambda(X)$. Suppose that $\lambda(YXY^{-1}) > \beta$, put $\beta_0 = \min\{\lambda(YXY^{-1}), \partial\}$. Then $\gamma < \beta_0 < \partial$. By Proposition 3.9(2), λ_{β_0} is a normal HX -subgroup

of ν and thus $YXY^{-1} \in \lambda_{\beta_0}$. Then $X = Y^{-1}(YXY^{-1})Y \in \lambda_{\beta_0}$, we get $\lambda(X) \geq \beta_0 > \beta$ which is a contradiction to $\lambda(X) = \beta$. Then $\lambda(YXY^{-1}) = \lambda(X)$.

- (3) If $\gamma < \lambda(XY) < \partial$, then $\lambda(YX) = \lambda(X^{-1}(XY)X) = \lambda(XY)$ by (2), we get $\lambda(XY) = \lambda(YX)$.
- (4) If $\lambda(XY) \geq \partial$, then $XY \in \lambda_\partial$ but $X \in \lambda_\partial$ is a normal HX -subgroup of ν by Proposition 3.9(2), $YX = X^{-1}(XY)X \in \lambda_\partial$; thus $\lambda(YX) \geq \partial$.
- (5) Assume $\lambda(YX) > \gamma$ on the contrary. If $\lambda(YX) \geq \partial$, then by (1) $\lambda(XY) \geq \partial$ and its contradiction to $\lambda(XY) \leq \gamma$, therefore $\lambda(YX) \leq \gamma$. □

4. COSETS OF a (γ, ∂) -FUZZY HX -SUBGROUP

Definition 4.1. If λ is a (γ, ∂) -fuzzy HX -subgroup of ν and $X \in \nu$. A fuzzy subsets $X\lambda$ and λX of ν define respectively by:

$$(X\lambda)(Y) = (\lambda(X^{-1}Y) \vee \gamma) \wedge \partial$$

$$(\lambda X)(Y) = (\lambda(YX^{-1}) \vee \gamma) \wedge \partial.$$

For all $Y \in \nu$. $X\lambda$ and λX will be called a left and right cosets of λ respectively.

Remark 4.1. $E\lambda = \lambda E, \gamma \leq (\lambda X)(Y) \leq \partial$ and $\gamma(X\partial)(Y) \leq \partial$ which are valid for all $Y \in \nu$.

Corollary 4.2. If λ, δ are a (γ, ∂) -fuzzy HX -subgroup of ν . Then:

- (1) $X(Y\lambda) = (XY)\lambda$.
- (2) $(\lambda X)Y = \lambda(XY)$.
- (3) $X\lambda = Y\delta$ iff $E\lambda = (X^{-1}Y)\delta$ and $E\lambda = (Y^{-1}X)\delta$.
- (4) $\lambda X = \delta Y$ iff $\lambda E = \delta(X^{-1}Y)$ and $\lambda E = \delta(Y^{-1}X)$.
- (5) If $\lambda = \delta$, then $X\lambda = Y\lambda$ iff $E\lambda = (X^{-1}Y)\lambda$ and $E\lambda = (Y^{-1}X)\delta$.
- (6) $\lambda X = \lambda Y$ iff $\lambda E = \lambda(X^{-1}Y)$ and $\lambda E = \lambda(Y^{-1}X)$. For all $X, Y \in \nu$.

Proof. Straightforward. □

Remark 4.2. If λ is a (γ, ∂) -fuzzy HX -subgroup of ν . Then

- (1) $\gamma < \lambda(X) < \partial$, then $(E\lambda)(X) = (\lambda X)$.
- (2) If $\lambda(X) \geq \partial$, then $(E\lambda)(X) = \partial$.
- (3) If $\lambda(X) \leq \gamma$, then $(E\lambda)(X) = \gamma$.

Theorem 4.3. Let λ be a (γ, ∂) -fuzzy HX -subgroup of ν and $\lambda(E) \geq \partial$, then $X \in \lambda_\partial$ if and only if $X\lambda = E\lambda$.

Proof. \Rightarrow Suppose that $X \in \lambda_\partial$, since λ_∂ is a HX -subgroup of ν by proposition 3.9(2), then $X^{-1} \in \lambda_\partial$, thus $\lambda(X^{-1}) \geq \partial$ by Theorem 3.6(1). If $Y \in \nu$, we have three cases.

Case 1. If $\lambda(Y) \geq \partial$, then $Y \in \lambda_\partial$ and $X^{-1}Y \in \lambda_\partial$. That is, $\lambda(X^{-1}Y) \geq \partial$ by Corollary 3.7(1) then:

$$\begin{aligned}
(X\lambda)(Y) &= (\lambda(X^{-1}Y) \vee \gamma) \wedge \partial \\
&= \partial \\
&= (\lambda(Y) \vee \gamma) \wedge \partial \\
&= (E\lambda)(Y).
\end{aligned}$$

Case 2. If $\gamma < \lambda(X) < \partial$, then $\lambda(X^{-1}Y) = \lambda(Y)$ by Corollary 3.7(2). Thus

$$\begin{aligned}
(X\lambda)(Y) &= (\lambda(X^{-1}Y) \vee \gamma) \wedge \partial \\
&= (\lambda(Y) \vee \gamma) \wedge \partial \\
&= (E\lambda)(Y).
\end{aligned}$$

Case 3. If $\lambda(X) \leq \gamma$, then $\lambda(X^{-1}Y) \leq \gamma$ by Corollary 3.7(2). Thus

$$\begin{aligned}
(X\lambda)(Y) &= (\lambda(X^{-1}Y) \vee \gamma) \wedge \partial \\
&= \partial \\
&= (\lambda(Y) \vee \gamma) \wedge \partial \\
&= (E\lambda)(Y).
\end{aligned}$$

In summary $Y\lambda = E\lambda$. \Leftrightarrow Suppose that $Y\lambda = E\lambda$, then we have:

$$\begin{aligned}
(Y\lambda)(Y) &= (E\lambda)(Y) \\
(\lambda(Y^{-1}Y) \vee \gamma) \wedge \partial &= (\lambda(Y) \vee \gamma) \wedge \partial \\
(\lambda(E) \vee \gamma) \wedge \partial &= (\lambda(Y) \vee \gamma) \wedge \partial \\
\partial &= (\lambda(Y) \vee \gamma) \wedge \partial \quad (\text{Hence } \lambda(E) \geq \partial)
\end{aligned}$$

Then $\lambda(Y) \geq \partial$ and hence $Y \in \lambda_\partial$.

Similarly, if λ be a (γ, ∂) -fuzzy HX -subgroup of ν and $\lambda(E) \geq \partial$, then $X \in \lambda_\partial$ iff $\lambda X = \lambda E$. \square

Proposition 4.4. Let λ be a (γ, ∂) -fuzzy HX -subgroup of ν and $Y \in \lambda_\partial$ then $Y\lambda = E\lambda = \lambda Y$.

Proof. $Y \in \lambda_\partial$, then $\lambda(E) \geq \partial$ by Corollary 3.3 and thus $Y\lambda = E\lambda$ and $\lambda E = \lambda Y$. It follows $Y\lambda = E\lambda = \lambda Y$. \square

Theorem 4.5. If λ be a (γ, ∂) -fuzzy HX -subgroup of ν . Then:

- (1) $X\lambda_\partial = Y\lambda_\partial$ if and only if $X\lambda = Y\lambda$ provided $\lambda_\partial \neq \phi$ where $X, Y \in \nu$.
- (2) If $\gamma < \lambda(E) < \partial$, then $\lambda(X) = \lambda(E)$ iff $X\lambda = E\lambda$.

Proof.

$$\begin{aligned}
1. X\lambda_\partial &= Y\lambda_\partial \\
&\Leftrightarrow Y^{-1}X \in \lambda_\partial \\
&\Leftrightarrow (Y^{-1}X)\lambda = E\lambda \quad (\text{Theorem 3.6}) \\
&\Leftrightarrow X\lambda = Y\lambda \quad (\text{Corollary 4.2(5)})
\end{aligned}$$

2. \Rightarrow Suppose that $\lambda(X) = \lambda(E)$, that is, $X \in \lambda_{\lambda(E)}$. By Lemma 3.5, $\lambda_{\lambda(E)}$ is a HX -subgroup of ν . We have $X^{-1} \in \lambda_{\lambda(E)}$, thus, $\lambda(X^{-1}) \geq \lambda(E)$ and so $\lambda(X^{-1}) = \lambda(E)$ take $Y \in \nu$. We have $\lambda(Y) \leq \lambda(E)$ by Corollary 3.3. There are three cases:

Case1. $\lambda(Y) \leq \gamma$. Thus $\lambda(X^{-1}Y) \leq \gamma$ by Corollary 3.7(3) and so:

$$\begin{aligned} (X\lambda)(Y) &= (\lambda(X^{-1}Y) \vee \gamma) \wedge \partial \\ &= \partial \\ &= (\lambda(Y) \vee \gamma) \wedge \partial \\ &= (E\lambda)(Y). \end{aligned}$$

Case 2. If $\gamma < \lambda(Y) < \lambda(E) = \lambda(X^{-1})$, then $\lambda(X^{-1}Y) = \lambda(Y)$ by Corollary 3.7(2) and so

$$\begin{aligned} (X\lambda)(Y) &= (\lambda(X^{-1}Y) \vee \gamma) \wedge \partial \\ &= (\lambda(Y) \vee \gamma) \wedge \partial \\ &= (E\lambda)(Y). \end{aligned}$$

Case 3. If $\lambda(X) = \lambda(E)$ we have $X^{-1}, Y \in \lambda_{\lambda(E)}$ ($\lambda_{\lambda(E)}$ is HX -subgroup of ν). Then $X^{-1}Y \in \lambda_{\lambda(E)}$ and thus $\lambda(X^{-1}Y) \geq \lambda(E)$. Hence $\lambda(X^{-1}Y) = \lambda(E)$ and we get $\lambda(X^{-1}Y) = \lambda(Y) = \lambda(E)$. Then

$$\begin{aligned} (X\lambda)(Y) &= (\lambda(X^{-1}Y) \vee \gamma) \wedge \partial \\ &= (\lambda(Y) \vee \gamma) \wedge \partial \\ &= (E\lambda)(Y). \end{aligned}$$

Therefore $X\lambda = E\lambda$.

\Leftrightarrow Suppose that $X\lambda = E\lambda$. Then

$$\begin{aligned} (X\lambda)(X) &= (E\lambda)(X) \\ (\lambda(X^{-1}X) \vee \gamma) \wedge \partial &= (\lambda(X) \vee \gamma) \wedge \partial \\ \lambda(E) &= (\lambda(X) \vee \gamma) \wedge \partial & (\gamma < \lambda(E) < \partial) \\ \lambda(E) &= \lambda(X). \end{aligned}$$

□

Corollary 4.6. *If λ be a (γ, ∂) -fuzzy HX -subgroup of ν then $X\lambda_{\lambda(E)} = Y\lambda_{\lambda(E)}$ iff $X\lambda = Y\lambda$ provided $\gamma < \lambda(E) < \partial$ for any $X, Y \in \nu$.*

Proof.

$$\begin{aligned} X\lambda_{\lambda(E)} &= Y\lambda_{\lambda(E)} \\ &\Leftrightarrow Y^{-1}X \in \lambda_{\lambda(E)} \\ &\Leftrightarrow (Y^{-1}X)\lambda = E\lambda \\ &\Leftrightarrow X\lambda = E\lambda. \end{aligned}$$

□

Theorem 4.7. *If λ be a (γ, ∂) -fuzzy HX -subgroup of ν , $X\lambda = Y\lambda$ and $\gamma < \lambda(X) < \partial$ then $\lambda(X) = \lambda(Y)$ for any $X, Y \in \nu$.*

Proof. $X\lambda = Y\lambda$ then $(Y^{-1}X)\lambda = E\lambda$. We have two cases:

Case 1. If $\lambda(Y) \geq \partial$ then by Theorem 3.6, $X^{-1}Y \in \lambda_{\partial}$, thus $(X^{-1}Y) \geq \partial$. By Corollary 3.7 and $\gamma < \lambda(X) < \partial$, $\lambda(X) = \lambda(X(X^{-1}Y)) = \lambda(Y)$.

Case 2. If $\lambda(E) < \partial$ and $\gamma < \lambda(X) < \partial$, then $\lambda(X) < \lambda(E) < \partial$ and then $\lambda(X^{-1}Y) = \lambda(E)$ by Theorem 3.10(2).

If $\lambda(X) < \lambda(E) = \lambda(X^{-1}Y)$ therefore $\lambda(X) = \lambda(X(X^{-1}Y)) = \lambda(Y)$.

If $\lambda(X) = \lambda(E) = \lambda(X^{-1}Y)$ then $X, X^{-1}Y \in \lambda_{\lambda(E)}$, hence λ is a (γ, ∂) -fuzzy HX -subgroup of ν , $\lambda_{\lambda(E)}$ is a HX -subgroup of ν . Therefore $Y = X(X^{-1}Y) \in \lambda_{\lambda(E)}$ and then $\lambda(Y) \geq \lambda(E)$, then $\lambda(X) = \lambda(E) = \lambda(Y)$. \square

Corollary 4.8. *If λ be a (γ, ∂) -fuzzy HX -subgroup of ν , such that $\beta \in (\gamma, \partial]$, $\lambda_\beta \neq \phi$. If $X\lambda = Y\lambda$ then $X\lambda_\beta = Y\lambda_\beta$.*

Proof. λ_β is a HX -subgroup by Lemma 3.5 and $\lambda_\beta \neq \phi$ and $\gamma < \beta \leq \lambda(E)$, by $X\lambda = Y\lambda$, we know that $(X\lambda)(Y) = (Y\lambda)(Y)$ that is $(\lambda(X^{-1}Y) \vee \gamma) \wedge \partial = (\lambda(E) \vee \gamma) \wedge \partial = \lambda(E) \vee \gamma$. If $\lambda(E) \geq \partial$ then $\lambda(X^{-1}Y) \geq \partial$, that is $X^{-1}Y \in \lambda_\partial \subseteq \lambda_\beta$ and hence $X\lambda_\beta = Y\lambda_\beta$.

If $\lambda(E) < \partial$, then $\lambda(X^{-1}Y) = \lambda(E)$ that is $X^{-1}Y \in \lambda_{\lambda(E)}$ by $\lambda_{\lambda(E)} \subseteq \lambda_\beta$, then $X^{-1}Y \in \lambda_\beta$. Therefore $X\lambda_\beta = Y\lambda_\beta$. \square

5. CONCLUDING REMARKS

A (γ, ∂) -fuzzy subgroups concepts discussed by Yuen et al. In this paper, we studied a (γ, ∂) -fuzzy HX -subgroup, normal and cosets with suitable properties. We extended these ideas to the intuitionistic bipolar fuzzy HX -subgroup and discussed some properties of them.

REFERENCES

1. L.A. Zadeh, *Fuzzy Sets*, Information and control **8** (1965), 338-353.
2. A. Rosenfeld, *Fuzzy Groups*, J. Math. Anal. Appl. **35** (1971), 512-517.
3. M.O. Massa'deh, *On Fuzzy Subgroups with Operators*, Asian Journal of Mathematics and Statistics **5** (2012), 163-166.
4. M.O. Massa'deh and H.M. Hatamleh, *L-Q-Fuzzy Quotient ζ -Groups*, Theoretical Mathematics and Applications **7** (2017), 75-86.
5. R. Kumar, *Homomorphism and (Fuzzy Normal) Subgroups*, Fuzzy Set and System **44** (1991), 165-168.
6. X. Yuan, C. Zhang and Y. Ren, *Generalized Fuzzy Groups and Many-Valued implications*, Fuzzy Set and Systems **138** (2003), 205-211.
7. M.O. Mass'deh, *On P and P*-Upper Fuzzy Subgroups*, Far East Journal of Mathematics Sciences **5** (2010), 97-104.
8. L. Hongxing, *HX-Group*, BUSEFAL. **33** (1987), 31-37.
9. R. Muthuraj and M. Sridharan, *Homomorphism and Anti Homomorphism on Bipolar Fuzzy Sub HX Groups*, Gen Mathematics Notes **17** (2013), 53-65.
10. R. Muthuraj and M. Sridharan, *Some Properties of a Bipolar Fuzzy and Bipolar Anti Fuzzy HX-Subgroup*, IOSR Journal of Mathematics **9** (2014), 128-137.
11. M.O. Massa'deh and A. Fallatah, *On Hyper Q-Fuzzy Normal HX-Subgroup, Conjugate and its Normal Level*, Italian Journal of Pure and Applied Mathematics **42** (2019), 624-634.
12. M.O. Massa'deh and A.A. Fora, *Bipolar -Valued Q-Fuzzy HX-Subgroup on an HX-Group*, Journal of Applied Computer Science and Mathematics **11** (2017), 22-24.
13. M.O. Massa'deh, *Some Properties for M-Homomorphism and M-Anti Homomorphism over Q-Fuzzy M-HX Subgroups and its Level*, Journal of Informatics and Mathematical Sciences **9** (2017), 73-78.

14. S.K. Bhakat and P. Das, $(\epsilon, \epsilon \vee q)$ -Fuzzy Subgroup, Fuzzy Set and Systems **80** (1996), 359-368.
15. B. Yao, (λ, μ) -fuzzy Normal Subgroups and (λ, μ) -Fuzzy Quotient Subgroups, The Journal of Fuzzy Mathematics **13** (2005), 695-705.
16. V. Chinnadurai and K. Arulmozhi, Characterization of Bipolar Fuzzy Ideals in Ordered Gamma Semigroups, Journal of the International Mathematical Virtual Institute **8** (2018), 141-156.

Ahlam Fallatah received M.Sc. from Birmingham University and Ph.D. at Leicester University. Since 2000 she has been at Taibah University. Her research interests include Bipolar fuzzy, Fuzzy group, Rings and Graphs.

Department of Mathematics, Taibah University, Madina Saudi Araiba.
e-mail: Afallatah@taibahu.edu.sa

Mourad Oqla Massa'deh received M.Sc. from Yarmouk University, and Ph.D. from Damascus University. He is currently a professor at Al-Balqa Applied University since 2009. His research interests are Fuzzy groups, Rings and graphs, Bipolar fuzzy group, Intuitionistic fuzzy group and Hyper fuzzy groups.

Department of Applied Science, Ajloun College, Al-Balqa Applied University, Ajloun, Jordan.
e-mail: mourad.oqla@bau.edu.jo

Abd Ulazeez Alkouri received M.Sc. from UKM University, and Ph.D. from UKM University. He is currently a professor at Ajloun National University since 2014. His research interests are Fuzzy groups, Fuzzy complex, Intuitionistic fuzzy complex and bipolar fuzzy graph.

Department of Mathematics, Science College, Ajloun National University, Ajloun, Jordan.
e-mail: alkouriabdulazeez@gmail.com